jet

pzd

Ratio to ATLAS

[EEY

0.5

7000 GeV pp Jet
_'I'I'|'I'I'I'I'|'I'I'I'I'|'I'I'I' [ Q
3
Nt VS PT (L) (3 <Ay < 4) 3
S
B ATLAS 3
—a4a— Pythia 8.186 default )
—
=
%
©
=
x

mcplots.cern.ch [arXiv:1306.3436]

IIII|IIII|IIII__IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIi_Im

g m B ® " u u - n .

' ' ' ' ' ; ' | ' | ' | ' | ' | ' | ' | ' | ' | ' | ' ' | ' ' ' | ' | '
e A5 L L L L B I LS
- .
- \ 1 11
| —0.5
..... I R T S T A S S S SR R S SR S SR E T S SN TR

100 20 300 400 500



	Contents
	Page 1


